SIHEE ¢ 2012
gasE | gx
= T Sikey
SHZE ¢ SR IIASESIA (2l 0 A2
o = B oH s =
2 -8 - Hg - = o e oeaw | 50

= A 21,578,284 | 23,492,046 | ~1913.762
600 Ot=STAH= 6,092,681 5,913,098 179,583
610 FH=+2 1,386,384 1,300,542 85,842
611 AIBE=9 1,386,384 1,300,542 85,842
01 IHEE 593,280 587,520 5,760

O JHE&st=EAEs =Y 10,300& x4 ,800& x12& = 593,280
02 gRE 151,800 137,280 14,520

O geEdt=tAgs =Y 1,150& x11,000& x12& = 151,800
03 <= 356,400 345,600 10,800

O gg&st=tAgs =Y 1,650&%x18,000& x12& = 356,400
04 =SE213 130,464 127,218 3,246

O Eg1&ot=ZME8 =8 36& x302,000& %128 = 130,464
06 ME= 154,440 102,924 51,516

O st AEZ =Y 458 x286,000& x 128 = 154,440
620 A2 4,706,297 4,612,556 93,741
621 =OIXt 100,000 100,000 0
01 B0 K==L 100,000 100,000 0

O UEIINZ L 22012 0IK4e - 100,000
622 ElAHELS 4,592,297 4,498,556 93,741
01 BB A MU F 3,125,577 2,802,716 322,861

O 8-dJIZ=Ad 2Z| = 3,114,000

O S+ZUHT ALHAS OIRLS - 11,577
02 EISE3AHELS 1,333,000 1,475,000 A 142,000

O gs=AH2el2 1,333,000

- E8JI=AE 29| = 1,333,000
06 =LEX=S 133,720 220,840 A87,120

O BZ2XaIT ALKAT 0IXA S 133,720

- g = 103,800

- ogd = 15,280
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L gx o
N Shaee
= o c ol Sesl (er9l @ ®%)
m& R j i & S has | 8 @
0 - 14,640
625 JIEtEel=Y 14,000 14,000 0
JI2THA S ==L 14,000 14,000 0
LATI=BL XIS 2e/AIE LU= = 14,000
100 A=2&+¢ 15,055,603 17,031,944 21,976,341
320 AEdoia=+Y 15,055,603 17,029,944 A 1,974,341
322 EHAEEXS 14,935,603 16,909, 944 AN 1,974,341
e =, 7,218,280 9,096,160 A 1,877,880
SAZRHRIE AuTE Aas 1,419,280
- g = 443,200
- se - 489,720
- ot = 486,360
PorB3ot=HelAlE JhE = 370,000
oteatHMelAlE e = 73,000
O™ EMXIF St=21 ZH| = 251,000
=X o2t EH| = 1,009,000
W& =HXIY Sh=2t4 JHI = 2,496,000
SN S4ZI B - 655,000
SOTIT(2) B4R Hb - 356,000
Jret, A0S of=& &X = 389,000
HE0IZ ot=E N = 200,000
ESIHALELRZ 7,547,423 7,181,284 366,139
Yes meI3 6,674,423
- SeME AaneE Bass - 418,320
- Ot==2H % SteHelAlE EHIANY = 6,073,403
- Ol==Xcel& JHEAY = 182,700
LS 23DI3 SEaN B3 873,000
- eoRIoAHRANE HE - 47,000
- ote Gt=HMelAld N = 21,000
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SHEE 1 2012
GaTE gz
2 TR Siaame
SIHRE . StERIIASLESIH (&2 A
o = B oH s =
2 -8 - Ha - = oa wew | 5 F

- 0. 88X7 ot=2t01 &l = 32,000

- JI=X7 ot=2H Fdl = 213,000

- OHE=FHXIY ots=2tH ZH| = 320,000

- SOHXF ot2H Fl = 121,000

- POIT(2) B4 Fbl - 45,000

- JhH A0S St X = 49,000

- HEOI2 ot% W = 25,000
03 Al-SHIEXS 169,900 632,500 N 462,600

O RorZBEIATIAL W2 - 55,700

O 8t sHX2IALE Jhe - 25,600

O Jtet 30t Sl=& &X = 58,500

O H&0Ots o= &X = 30,100
323 ZARES 120,000 120,000 0
03 JIEIZSARES 120,000 120,000 0

O |kt 2¢3 = 120,000
900 0OIE3 430,000 547,004 A 117,004
910 0OI=2 30,000 50,000 A 20,000
911 0OI=3 30,000 50,000 A 20,000
01 0l=2 30,000 50,000 A 20,000

O AHEE =g = 30,000
920 0lE3 400,000 497,004 A97,004
921 0OlIE3 400,000 497,004 A 97,004
01 O=F= 400,000 497,004 A97,004

O &M 203 - 400,000




